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Worksheet 8 KEY — Rational Functions (84.5)
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1. 5 4
f(z)= T/
6 — 2w 24 :
Domain: (—oc,3) U (3, 00) 1 |
No holes in the graph R R R R RLIG
r-intercept: (0,0) < sl :
y-intercept: (0,0) I
Vertical asymptote: = = 3 :1 :
Horizontal asymptote: y = —5 &l :
-7 I
I “y 1
2. 1 1 [ I
flz)=— — = — ! !
r-+r—12 (r-3)(r+4) ! t !
Domain: (—oc, —4) U (—4,3) U (3.00) ﬂ :TI
No holes in the graph I '
No z-intercepts J : :K}
y-intercept: (D,—%E'J B SO T . W e S
Vertical asymptotes: r = —4 and x =3 | /rA *\\:
Horizontal asymptote: y =0 :|' |:
.
| |
| |
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3. 2z —1 2z — 1 -
@)= =5 2= 1o s |
—2z2 —-5x+3 (2x —1)(x +3) |
Domain: (—oc, —3) U (-3, %,‘I u [’%._ oa) ! 1l
r)= ——, T #:
flz) -y #3 |
: 12 = . -
Hole in the graph at (5, —%) B S i . Ty
No r-intercepts | ol
y-intercept: (D,—%} |
Vertical asvmptote: oz = —3 : I
. - o |
Horizontal asymptote: y =0 o
]
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4, T T
J(x) = 22 +x—12 (z—3)(z+4)
Domain: (—oo, —4) U(—4,3) U (3,00)
No holes in the graph
z-intercept: (0,0)
y-intercept: (0,0)
Vertical asymptotes: r= —4 and 2 =3
Horizontal asymptote: y =0
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4x 4r
flz)= 2—4  (z+2)(x—2)
Domain: (—oo, —2) U (—2,2) U (2, 00)
No holes in the graph
z-intercept: (0.0)
y-intercept: (0,0)
Vertical asvmptotes: @ = —2, 2 =2
Horizontal asyvmptote: y =0
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?—r—12 r—4 11
f{x}zrg—l—f—lﬁ:x—ﬁx#_g T
Domain: (—oc,—3) U (—3,2) U (2, 00)
Hole at (—3, %) ool __
z-intercept: (4,0)
y-intercept: (0,2) -1
Vertical asymptote: z =2 _al
Horizontal asymptote: y =1 sl
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7. _ I g I
322 —5r—2 (3x+1)(z—2) Lo |
f(l‘} — o) — | 6 1
-9 (r+3)(xr—23) [ 5 1
Domain: (—oo, —3) U (—3,3) U (3, 00) L | \
No holes in the graph "7 7~~~ —~ - —:: T te==———g
z-intercepts: [—:l,[}),. (2.0) | :
y-intercept: (D, % l]133456780°F
Vertical asymptotes: r = —3,2 =3 12l ;|
Horizontal asymptote: y =3 : :? ':
- |
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> - 6 _(x—3)(x+2)
- — T — r— 3z
fla)= "=
Tr+1 r+1
Domain: (—oc,—1)U (-1, 00)
No holes in the graph
z-intercepts: (—2,0), (3,0)
y-intercept: (0, —6)
Vertical asymptote: z = —1
Slant asymptote: y=x — 2
9.

i r? —x r(r—1)
J(2) = 3—-r 3-—=x
Domain: (—oo,3) U (3, 00)
No holes in the graph
z-intercepts: (0,0), (1,0)
y-intercept: (0,0}

Vertical asymptote: z =3
Slant asymptote: y = —x — 2
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12.
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3 4+ 222 41 r(r+1)
flz) = P?—r—-2  x-2 z# -1
Domain: (—oco,—1)U(—1,2) U (2, 00)
Hole at (—1,0)

r-intercept: (0,0)

y-intercept: (0,0)

Vertical asvmptote: z = 2

Slant asyvmptote: y =a + 3

—23 | 4x
1) =—a—5-
Domain: (—oo, —3) U (—3,3) U (3, 00)
No holes in the graph
z-intercepts: (—2,0),(0,0),(2,0)
y-intercept: (0,0)
Vertical asvmptotes: x = —3.2 =3
Slant asymptote: y = —=x

x?— 2z +1
flw) = rd + 12 — 21
Domain: (—oc, =2) U (=2,0)U (0,1) U (1, 00)
r—1
r)=—— x#1
fl@) = s £
Hole in the graph at (1,0)
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No z-intercepts

No y-intercepts

Vertical asymptotes: = —2and x =0
Horizontal asymptote: y =0
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